CSIBER TRUST'S COLLEGE OF NON CONVENTIONAL VOCATIONAL COURSES FOR WOMEN ACADEMIC CALENDAR FOR B.Sc.(FTM), B.A.(DMFC), B.I.D., B.A.(MULTIMEDIA) FOR THE YEAR 2018-19

Teaching Schedule : Odd Semester

Categorization	Date	Av .Contact Hrs. per Day	No. of Days	No. of Contact Hrs.	Total Contact Hours
Admission Process	15-06-2018 to 2-07-2018	6	14		
Teaching and	03-07-2018 to 31-07-2018	6	25	150	618
Learning Process	01-08-2018 to 31-08-2018	6	25	150	
	01-09-2018 to 30-09-2018	6	24	144	
	01-10-2018 to 31-10-2018	6	26	156	
	01-11-2018 to 03-11-2018	6	03	18	
Diwali Vacation	05-11-2018 to 17-11-2018		14		
Teaching and Learning Process		-	103		
Semester End Exams	As per the Exam time table (Tentative 18/11/2018 to 30/11/2018				

Teaching Schedule : Even Semester

Categorization	Date	Av .Contact Hrs. per Day	No. of Days	No. of Contact Hrs.	Total Contact Hours
Teaching and	01-12-2018 to 31-12-2018	6	25	150	582
Learning Process	01-01-2019 to 31-01-2019	6	26	150	
	01-02-2019 to 28-02-2019	6	24	144	
	01-03-2019 to 31-03-2019	6	23	138	
Internal, External & Practical	01-04-2019 to 13-04-2019		12		
Preparation Leave	14-04-2019 to 17-04-2019 (Tentative)		04		
Teaching and Learning Process		-	98		
Semester End Exams	As per the Exam time table (Tentative 18/04/2019 to 15/05/2019)				

Number of Working Days	:	201
Total number of Contact Hours	:	1194
Summer in-plant training will commence from 15 th May 2019 to 15 th June 2019	:	Minimum 30 days

Public Holidays:

1.	Republic Day	5.Ambedkar Jayanti	9.	Bakari ID
2.	Rang Panchhami	6.Maharashtra Day	10.	Ganesh Chaturthi
3.	Gudi Padva	7.Ramjan ID	11.	Dasara
4.	Good Friday	8.Independence Day	12.	Christmas

End of Academic year : 04/05/2019 Reopening Day of Academic year : 15/06/2019

Note : 1. Each department is required to give tentative date of Industrial visits / National / Internal Seminars / Workshops / Conferences with tentative dates

2. Time dedicated for extracurricular activities is 3.30 pm to 5.30pm.

3. Except teaching and placement no other activities should be planned at least three weeks before semester exams

Mrs. Jyoti Hiremath HOD Fashion Design Mrs. Ashwini Raibagkar HOD Food Technology Mrs. Bela Joshi HOD Interior Design Ms. Renuka Chavan Coordinator Multimedia

CSIBER TRUST'S COLLEGE OF NON CONVENTIONAL VOCATIONAL COURSES FOR WOMEN ACADEMIC ACTIVITIES FOR B.Sc.(FTM), B.A.(DMFC), B.I.D., B.A.(MULTIMEDIA) FOR THE YEAR 2018-19

Event	Date
Welcome Function	28-07-2018
Workshop on MOODLE	06/12/2018
Faculty Development Program	31/12/2018 to 05/01/2019
Sport Event	09/01/2019 to 10/01/2019
Exhibition	3,4 & 5 Feb, 2019
Gathering	06/02/2019
Alumni Day	04-02-2019
Parents meet	05/02/2019
National Seminar	02/03/2019
Farewell Function	30-03-2019

Common Events of the College

Enath

Aslaibaghan

Mrs. Jyoti Hiremath HOD Fashion Design

Mrs. Ashwini Raibagkar HOD Food Technology

Mrs. Bela Joshi HOD Interior Design

avar

Ms. Renuka Chavan Coordinator Multimedia

Fashion Design Dept.	Food Technology Dept.	Interior Design Dept.	Multimedia Dept.
Two days Workshop 13 th and 14 August 2018	21-7-2018 Guest Lecture B.Sc III	Site visit B.I.D. II 07/07/2018,09/07/2018	
One day Industrial visit for Ist, IInd &IIIrd year 31 st August 2018	28-7-2018 Wall paper Display B.Sc II	Site Visit B.I.D. III 09/07/2018,10/07/2018	
Guest lecture 2 nd week September 2018	1-8-2018 Wall paper Display B.Sc III	Guest lecture on Plywood 27/07/2018	
Display by 3 rd year students on 10 th September 2018	11-8-2018 Industry visit B.Sc I	Workshop on Lighting Accessories 29/08/2018	
Industrial Interaction 29 th September2018	9-8-18 to 10-8-18 Workshop on Research methodology B.Sc III	Guest lecture on SYSKA LED Lights 03/10/2018	
Guest Lecture 3 rd week October 2018	18-8-2018 Industry visit B.Sc II	Industrial Tour: 8Jan 2019 to 12 Jan	
Lead college workshop 4 th week October 2018	21-8-2018 Workshop on Ayurvedic Nutrition B.Sc and PGDND students	Industry Institute Interaction 9/10/2018	
Display by 2 nd year students on 25 th October 2018	25-8-2018 Guest Lecture B.Sc I	Guest lecture on Modular Kitchen 18/10/2018	
One Day work shop on Textile Designing 2 nd Week of December 2018	8-9-2018 Industry visit B.Sc III	Workshop on 3D Max for B.I.D. II 18/12/18- 23/12/18	
Industrial Tour: Dec last week 2018	11-9-2018 Guest Lecture B.Sc II	Workshop on LEAD College 28/12/18	
Display of 3 rd year students on 20 th December 2018	18-9-2018 Wall paper Display B.Sc I	Guest Lecture by eminent Architect 16/01/2019	
Display of 2 nd year students on 27 th December 2018	22-9-2018 Industry Institute Interaction B.Sc and PGDND students	Workshop on rendering Techniques for B.I.D. I 25/01/2019	
National Level Design Competition 19 th January 2019	8-10-18 to 9-10-18 October Sports Common Event	Poster Presentation 1 07/02/2019	
Guest Lecture in 4 th week of January 2019	16-10-18 to 17-10-18 Live Cooking ompetetion Common Event		
	16-10-18 Quiz on food Science and Health B.Sc all Students		

Events of the all departments

Frath

Mrs. Jyoti Hiremath

HOD Fashion Design

Aslaibughan

Mrs. Bela Joshi

Mrs. Ashwini Raibagkar Mrs HOD Food Technology HOD

Mrs. Bela Joshi HOD Interior Design

Ms. Renuka Chavan Coordinator Multimedia